Total Noise: RDO1 Module2 TBO

Total Noise: RDO1 Modulel TBO

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO1 Module4 TBO

Total Noise: RDO1 Module3 TBO

]
TTT [T T T[TT T [TTT[TT7T T3
b
&
e e s
S
S
S
o
>
N
S
o
L i
by
&
=
o
5
N
S
=
o
o
&
&
o
I~
5
e
L
o5
S
3
o
S
=
i
o
s
53
&
o
o
B
<
o
I~
N
B
0
T
oav
0
0
LU BLELELE LN BLELELE LN
I I I I &
&
S
S
=
o
o .o
>
N
&
o
L i
iy
&
=
o
- PR P 4
N
S
=
o
Y | 7 S o
5
3
4 o
o LA 5
o
)
4 2]
_k. ..... o
) N
% o
£ —
E? "
A o
s
53
&
o
o
B
<
i A
e Y B N
N
) a
______________;» Lo
) ) ) 9
8 3

Ll
< o

100

<

channel Id

channel Id

Total Noise: RDO1 Module6 TBO

Total Noise: RDO1 Module5 TBO

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO2 Module8 TBO

Total Noise: RDO2 Module7 TBO

1407.5 15355

11515 12795

383.5 5115 6395

255.5

-2

2

5

) N

_______________m____ -2
S

§ 8 8 & & © 1
g

oav

0

2

2

____________________5

g

-2

e PRI I <

5

g

§

-2

L =

3

5

N

A

L =

g

g

g

-2

3

&

3

g

2555 3835 5115 639.5 767.5 8955

1275

.5

channel Id

channel Id

Total Noise: RDO2 Module10 TBO

Total Noise: RDO2 Module9 TBO

0
2
2
T[T T[T T[T T[T T8
2
o
e 42
5
S
S
o
&
S
&)
o
e 42
A
5]
]
o
B
<
§
&)
5
A
2
2
o
2
5
g
A
2
2
2
o
2
|
A
o
B
H
3
o
"
2
§
&
2
5
&]
o
7
oav
0
3
2
T[T T[T T[T Too T8
2
o
5
S
S
o
e 43
&
<
&
o
e 42
A
5]
]
5
Lt PO P =
WY o
) . S
' B]
»
pAY 3
Lo LY S 2
2
?._._ °
o
N
5
g
0
B
2
2
o
2
i
A
o
B
&
3
5
"
2
<
A
2
S
)
_______________kﬁ____m
S S o S
@ o© < ~ ° !

100

channel Id

channel Id

Total Noise: RDO2 Module12 TBO

Total Noise: RDO2 Module11 TBO

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

I o

W%

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

I B
N
L1l _ L1l _ L1l _ Ll _wv 1l _ 1
§ 8 8 8 ] ©°
oav

-05

channel Id

channel Id



Total Noise: RDO3 Module2 TBO

Total Noise: RDO3 Modulel TBO

1407.5 15355

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

-0.5

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

-0.5

channel Id

channel Id

Total Noise: RDO3 Module4 TBO

Total Noise: RDO3 Module3 TBO

14075 1535.5

11515 12795

6395 7675 8955 10235

5115

2555 3835

1275

.5

14075 1535.5

11515 1279.5

2555 3835 5115 6395 7675 8955 1023.5

1275

-0.5

channel Id

channel Id

Total Noise: RDO3 Module6 TBO

Total Noise: RDO3 Module5 TBO

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO4 Module8 TBO

Total Noise: RDO4 Module7 TBO

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

e AL T
..._w !

11515 12795 14075 15355

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO4 Module10 TBO

Total Noise: RDO4 Module9 TBO

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
S
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
2
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO4 Module12 TBO

Total Noise: RDO4 Module11 TBO

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO5 Module2 TBO

Total Noise: RDO5 Modulel TBO

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO5 Module4 TBO

Total Noise: RDO5 Module3 TBO

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
N
~
N
o
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO5 Module6 TBO

Total Noise: RDO5 Module5 TBO

I .

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO6 Module8 TBO

Total Noise: RDO6 Module7 TBO

1407.5 15355

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

-0.5

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO6 Module10 TBO

Total Noise: RDO6 Module9 TBO

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
W o
e R SR 5
]
<
o
SR PEPETEPEPET® .\ SERRRE
~
N
_____ _________ ____5
1 ) ) ) )
=3 @ © < « !
S
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO6 Module12 TBO

Total Noise: RDO6 Module11 TBO

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO1 Module2 TB1

Total Noise: RDO1 Modulel TB1

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO1 Module4 TB1

Total Noise: RDO1 Module3 TB1

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
K
N
B
o
e 4
5
&
=
o
- N
<
S
=S
o
- s
5
&
o
- <
s
e
o
- &
5
3
o
- i
b=
5
o
..... o
2
5
o
R v
]
<
o
P
~
N
)
o
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO1 Module6 TB1

Total Noise: RDO1 Module5 TB1

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO2 Module8 TB1

Total Noise: RDO2 Module7 TB1

1407.5 15355

11515 12795

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

-0.5

channel Id

channel Id

Total Noise: RDO2 Module10 TB1

Total Noise: RDO2 Module9 TB1

o
2
____________________ﬁ
5
o
e i e . W.
g
s
o
. - - - e oo
<
&
L
L .2
5
2
o
o
e [EYFECEREEE BE
%, g
.. R
o
2
2
&
2
(5
©
o
o
3
2
2
2
=
i
"
oo
2
g
o
i
8
<
o
I~
N
&
L
7
oav
n
o
___________________m
o
S
5
"
e i i i i e iera e, .o
©
&
"
L .2
=
i
o
L
SRR T ST TARERREE
;n.._ . S
i o
[ a...J“._.. ..... I_M
NS
..3 "
e PR I I~
RN [
A%
"
[Frorrrr ..,..,m.a,. ...... 8
..,\., o
R Y ’W ..... =
3 &
. o
Lo PR o [
! &
1 =]
o
<
o
I~
N
o
=]
7

channel Id

channel Id

Total Noise: RDO2 Module12 TB1

Total Noise: RDO2 Module1l TB1

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO3 Module2 TB1

Total Noise: RDO3 Modulel TB1

[ermmee s EEERTEEYREEEY B

1407.5 15355

11515 12795

1023.5

Ny

2555 3835 5115 6395 767.5 8955

1275

.5

1407.5 15355

11515 12795

383.5 5115 639.5 7675 8955 1023.5

255.5

Bt
5 12/5

100

'E ENNE AREE EERE
8 38 < 5 °

channel Id

channel Id

Total Noise: RDO3 Module4 TB1

Total Noise: RDO3 Module3 TB1

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO3 Module6 TB1

Total Noise: RDO3 Module5 TB1

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

T
e

=
e

[ T
Lo ..

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO4 Module8 TB1

Total Noise: RDO4 Module7 TB1

9
S
=

T[T T[T T[T T[T
[ gy
)
.y,...

[ ...w.n_ ..... b

11515 12795 14075 1535.5

2555 3835 5115 6395 767.5 8955 1023.5

1275

-0.5

11515 12795 14075 15355

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

..
L1l _ L1l _ L1l _ L1 .ww Ll _ 1
8 8 8 =R °

oav

channel Id

channel Id

Total Noise: RDO4 Module10 TB1

Total Noise: RDO4 Module9 TB1

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S

6395 7675 8955

5115

o
o3
2
&

255.5

1275

channel Id

channel Id

Total Noise: RDO4 Module12 TB1

Total Noise: RDO4 Module1l TB1

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO5 Module2 TB1

Total Noise: RDO5 Modulel TB1

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

-0.5

channel Id

channel Id

Total Noise: RDO5 Module4 TB1

Total Noise: RDO5 Module3 TB1

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO5 Module6 TB1

Total Noise: RDO5 Module5 TB1

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO6 Module8 TB1

Total Noise: RDO6 Module7 TB1

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO6 Module10 TB1

Total Noise: RDO6 Module9 TB1

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
S
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
2
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO6 Module12 TB1

Total Noise: RDO6 Module11 TB1

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

)
@ @ 5

100

-05

channel Id

channel Id



Total Noise: RDO1 Module2 TB2

Total Noise: RDO1 Modulel TB2

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

- -ttt - .-.uv‘_.-.w__._ oAt
o ﬁﬁ .....

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO1 Module4 TB2

Total Noise: RDO1 Module3 TB2

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
2
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=

channel Id

channel Id

Total Noise: RDO1 Module6 TB2

Total Noise: RDO1 Module5 TB2

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO2 Module8 TB2

Total Noise: RDO2 Module7 TB2

1407.5 15355

11515 12795

1023.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO2 Module10 TB2

Total Noise: RDO2 Module9 TB2

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e i~
S
S
N
o
e PR =4
K
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
o
o
~
N
o
T
oav
0
3
3
TTT[TIT[TI T[T [TTT T3
&
o
e R P
S
S
M
o
e =
>
N
B
o
e 4
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO2 Module12 TB2

Total Noise: RDO2 Module1l TB2

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO3 Module2 TB2

Total Noise: RDO3 Modulel TB2

1407.5 15355

11515 12795

2555 3835 5115 6395

1275

.5

8 8 8 =R’ °

e, i E
\

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

.5

channel Id

channel Id

Total Noise: RDO3 Module4 TB2

Total Noise: RDO3 Module3 TB2

0
3
3
TTT[TIT[TIT[TTTI[TTI T3
2
o
e [~
S
S
N
o
e PR =4
K
N
B
o
e i
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
s
e
o
&
5
3
o
i
b=
5
o
o
2
5
o
3
]
<
: o
eeeeeeaaa .. N
W) I~
N
. t
_____________ ____5
1 ) ) ) )
=3 @ © < « !
S
oav
0
3
3
TTT[TIT[TIT[TTI[TTT 2
&
o
e lds
S
S
M
o
e 5
>
N
B
o
e i
5
&
=
o
N
<
S
=S
o
s
5
&
o
N
>
e
o
>
5
3
o
i
b
iy
o
o
4
5
o
5
]
<
o
N
~
N
o
=
T

channel Id

channel Id

Total Noise: RDO3 Module6 TB2

Total Noise: RDO3 Module5 TB2

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO4 Module8 TB2

Total Noise: RDO4 Module7 TB2

1407.5 15355

11515 12795

1023.5

2555 3835 5115 6395

1275

.5

1407.5 15355

11515 12795

2555 3835 5115 639.5 7675 8955 1023.5

1275

channel Id

channel Id

Total Noise: RDO4 Module10 TB2

Total Noise: RDO4 Module9 TB2

14075 1535.5

11515 12795

6395 7675 8955 10235

5115

2555 3835

1275

.5

14075 1535.5

g
4y

e LY R,

11515 1279.5

2555 3835 5115 6395 7675 8955 1023.5

1275

gl
g Q °

___________
g 8 3

oav

-0.5

channel Id

channel Id

Total Noise: RDO4 Module12 TB2

Total Noise: RDO4 Module1l TB2

11515 1279.5 14075 1535.5

6395 7675 8955 10235

5115

2555 3835

1275

-0.5

11515 1279.5 14075 15355

2555 3835 5115 6395 7675 8955 10235

127.5

-05

channel Id

channel Id



Total Noise: RDO5 Module2 TB2
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Total Noise: RDO6 Module8 TB2
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